
𝑧 = 𝑎 + 𝑖𝑏
𝑧 = |𝑧|𝑒𝑖𝜙 = |𝑧|(cos 𝜙 + 𝑖 sin 𝜙)

ℂ

 𝐶𝑜𝑚𝑝𝑙𝑒𝑥𝑒 𝑐𝑜𝑛𝑗𝑢𝑔𝑢é ∶  𝑧̅ = 𝑎 − 𝑖𝑏
 𝑀𝑜𝑑𝑢𝑙𝑒 ∶ |𝑧| = √𝑧 ∙ 𝑧̅ = √𝑎2 + 𝑏2    > 𝟎
 𝐴𝑟𝑔𝑢𝑚𝑒𝑛𝑡 ∶  𝜙 ∈ [0; 2𝜋[ 
 𝑖 = √−1   ⇒   𝑖2 = −1  ⇒   𝑖3 = 𝑖2 ∙ 𝑖 = −𝑖  ⇒    𝑖53 = (𝑖2)26 ∙ 𝑖 = 𝑖
 (eiϕ)𝑛 = cos(𝑛𝜙) + 𝑖 sin(𝑛𝜙) = (cos 𝜙 + 𝑖 sin 𝜙)𝑛

 𝑧1 ∙ 𝑧2 = |𝑧1| ∙ |𝑧2| ∙ 𝑒𝑖(𝜙1+𝜙2)

𝑧 = 2 + 2𝑖         |𝑧| = √22 + 22 = 2√2    ⇒     𝑧 =  2√2 ( 1
√2

+ 1
√2

𝑖)  ⇒   {
cos 𝜙 = 1

√2

sin 𝜙 = 1
√2

  ⇒   𝜙 = 𝜋
4

𝑧 = 2𝑖 = (𝑒ln(2))
𝑖

= 𝑒𝑖 𝑙𝑛(2)   ⇒   |𝑧| = 1  , 𝜙 = ln(2)

ℂ

ℂ

 

𝑧4 = −2𝑖

𝑢 = −2𝑖

|𝑢| = √22 = 2    ,    𝑢 = 2(0 − 𝑖)   ⇔    { cos 𝜙 = 0
sin 𝜙 = − 1  ⇔   𝜙 = −

𝜋
2

 

 𝑧4 = 2𝑒−𝑖𝜋
2+2𝑘𝜋   𝑘 = 0, … ,3 

𝑧 = √24 𝑒(−𝑖𝜋
8+𝑘𝜋

2) 𝑘 = 0,1,2,3

𝑧1 = √24 𝑒(−𝑖𝜋
8) = √24 (cos (− 𝜋

8
) + 𝑖 𝑠𝑖𝑛 (− 𝜋

8
)) 𝑧3 = √24 𝑒(−𝑖9𝜋

8 ) = ⋯

𝑧2 = √24 𝑒(−𝑖5𝜋
8 ) = ⋯ 𝑧4 = √24 𝑒(−𝑖13𝜋

8 ) = ⋯ 



 𝒛 = 𝒂 + 𝒊𝒃 𝒂, 𝒃

𝑧2 = −3 + 4𝑖

𝑧 𝑎 + 𝑖𝑏

(𝑎 + 𝑖𝑏)2 = −3 + 4𝑖 

𝑎2 + 2𝑎𝑖𝑏 − 𝑏2 = −3 + 4𝑖  ⇔    {𝑎2 − 𝑏2 = −3
2𝑎𝑏 = 4

   ⇔  {

4
𝑏2 − 𝑏2 = −3

𝑎 =
2
𝑏

𝑏4 − 3𝑏2 − 4 = 0  ⇔     𝑡 = 𝑏2 ,    𝑡2 − 3𝑡 − 4 = 0  ⇔      𝑡 =
3 ± √25

2
= {

𝑡1 = 4
𝑡2 = −1

 

𝑏 𝑏2 = 4

𝑏 = ±4    ,     𝑎 =
2

±4
= ±

1
2


